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1. Evaluate each of the following integrals.
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2. Evaluate each of the following integrals.
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3. Evaluate each of the following integrals.

(a) (5 points) fm dz
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sin(zx)

4. (6 points) Use Simpson’s Rule with n = 4 subintervals to approximate the integral f; = dz.

Write out the correct sum and evaluate all the terms mrmctl}r but you do not have to simplify
your answer any further.
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5. (6 points) Find the average value of f(z) = In(z) fromz =1toz =e.
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6. (8 points) A bag of sand is lifted from the ground to the top of a 30 foot high building at a
constant speed with a cable that weighs 2 Ib/ft. A small tear in the bag causes sand to slowly
pour out. Initially the bag contains 100 pounds of sand, but the sand leaks out at a constant
rate and the bag weighs 90 pounds just as it reaches the 30 foot height. How much work is

done?

(Hint: Find a linear equation for the force (weight) of the bag of sand at a given height.)
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